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ko(Y) =@, (Y) +S(Y°)

( 844008)
: e(n) \@.(n)  S(n) 3 ke(Y) =@, (Y) +S(Y*)
3 kE=1.2.4.5.9.11
o(n)  Fuler o.(n) Euler S(n)  Smarandache
: Euler o(n); Euler @,( n) ; Smarandache S(n);
10 156 TA DOTI: 10. 16357 /. enki. issn1000-5862. 2021. 02. 13
4" n=3 o,(n) = (n) /2.
0
2
14 1 (1) ko= 1.2.4.5.9.11
Euler o(n) ; 5-8
Euler o, (n) ; (1) E =1 (1) Y =1.
941 Smarandache S( n) 343.375.500.686.750.867-1 156.1 734;
; 12 Euler o(n) . (1) k=2 (1) Y =45,
Smarandache S( n) Euler o,(n) 72.90.108.121.242;
2e(n) = ga(n) +S(n¥) . (i) k=4 (1) Y =24,
Euler 25.50;
¢( n) .Smarandache S( n) Euler (iv) k=5 (1) Y = 12;
o.(n) 3 (v k=9 (1) Y = 17.34:
k(1) = (1) + (V) (1) (v) k=1 (1) V=2
Euler o,(n)
1) =0 g(2) = 1. () v=1
1 (1 k=1 k=1 Y=I
(1) 1 LY =2 (1)
k=1+10 =11 k=11 Y=2 (1)
; ‘
13 o — j
1 n:]:[lqi 1 ;Y jl:[quBS’ q, <q, < <
S(n) = max(S(q") S(g3?) - S(qi")). @ !
2 P Eoos(ph) < SV = max(S(ql) S(e) o S(4) =S(q") (2)
kp; kE<p S(p") = kp. Y =4¢Y (qV) =1
3 n=3 o n) . o(Y) = o(¢’Y)) =o(qd) oY) =¢"(q-
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1 8 =
q =2 (4) (2k—1)qo(Y1) =
25(2% =120 2k -1 =1 ¢(Y,) =20
2k -1 =5 o(Y,)) =4 2k-1=1¢(Y,) =20
E=1Y, =25.33.44.50.66 Y =¢°Y,
(¢ V) =1 =50.66 Y =50.66
(1) D 2k-1=5p(Y,) =4 k=
3, =5.8.10.12 Y=¢Y, (qVY) =1
Y =10 Y =10 (1) ;
q=3 (4 (2k-1)g(Y)) =5(3") =
18 2k-1=1¢(Y) =18 2k-1=3
oY) =6 2k-1=9 ¢(Y,) =2. 2k-1=1
o(Y,) =18 E=1Y, =19.27.38.54
Y=¢Y, (qV) =1 Y=57.114 Y =
57.114 (1) i 2k-1=3¢(Y,) =6
k=2Y =7.9.14.18 Y =4¢Y, (¢q
Y,) =1 Y =21.42 Y =21.42
(1) b 2k-1=9 ¢(VY) =2 k=5
Y, =3.4.6 Y=¢Y (qVY) =1 Y=12
Y =12 (1) ;
q=>5 (4) 42k -1)e(Y) =
25(5%) =2x35 2(2k-1) o(Y,) =35 ;
q =17 (4)  6(2k -1)e(Y,) =
28(7%) =2 x49 3(2k-1)p(Y,) =49 ;
g =11 (4)  10(2k -=1)o(VY,) =
25(11%) =2 x8 x11 5(2k-1) o(Y,) =88

q =13 (4)
28(13%) =2 x8 x 13

12(2k 1) o V,) =
3(2k - 1) o(¥,) =52

q =17 (4)  16(2k-1)e(Y)) =
25(17%) =2 x8 x17 (2k-1)@(Y,) =17
2k -1 =17 o(Y,) =1 E=9Y =1.2
Y =17.34; k=9 (1) Y =17.34;

q=19 (4) (26-1)(g-1e(Y) =
25(q") = 16q ((2k -1 g(Y,) -16)(q - 1) =
16 )

2 5=2
q =2 (4)  2(2k -1)g(Y)) =

25(2') =2x18 2k-1=1 ¢(Y,) =18

2k =1 =3 o(Y,)) =6 2k-1=9 ¢(V,) =2.
2k -1 =1 ¢(Y,) =18 E=1Y, =19.27.38.
54 Y=¢Y (qVY) =1 Y =76.108
Y = 76.108 (1) D2k -1 =
3 o(Y,) =6 k=2Y =7.9.14.18 Y =
@Y, (¢qVY) =1 Y=2836 Y =28.36
(1) D 2k-1=9 ¢(Y,) =2
E=5Y =3.4.6 Y=¢Y (qV) =1
Y =12 Y =12 (1) :
q =3 (4)  6(2k -1)e(Y) =
25(3') =2x36 2k-1 =1 ¢(Y,) =12

2k_1:3¢;(Y|) = 4. 2k—1:1¢(Y|):12

E=1Y, = 13.21.26.28.36.42 Y =
FY, (qY) =1 Y=117.234.252 Y =
117.234.252 (1) . 2k-1=3
e(Y,) =4 k=2Y =58.10.12 Y =
@Y, (qV) =1 Y =45.72.90 Y =
45.72.90 (1) :

q=>5 (4)  20(2k -1) (Y, =
25(5"%) =2x70 (2E-1)p(Y,) =7
2k -1 =7 ¢(Y,) =1 k=4Y =12
Y =¢°Y, (qV) =1 Y=2550 k=4
Y = 25.50 (1) :

g =1 (4)  42(2k -1)g(Y,) =
25(7°) =2 x 98 21(2k = 1) @(Y,) = 98

q =11 (4)  110(2k-1) (Y,) =
28(11"°) =2 x 165 (2k-1)p(Y,) =3

2k -1 =3 (Y, =1 E=2Y =12

Y=¢Y, (qV) =1 Y=121.242 k=
2 Y = 121.242 (1) ;

g =13 (4) 12 x 13 x (2k -
De(Y,) = 25(13") =2 x 195 2(2k -
De(Y,) =5 ;

g = 17 (4) 16 x 17 x (2k -
De(Y,) =25(17"°) =2 x16 x 17 (2k -
De(Y,) =2 2k-1=1¢(Y,) =2 k=1
Y, =3.4.6 Y =867.1156.1 734, k=1

(1) Y = 867.1 156.1 734;

q =19 (4) (2k - 1)(q -
1) qe(Y,) =25(4¢") =2 x16¢q (2k-1)(q -
1) e(Y,) =32

3 5 =3
q =2 (4) (2k - 1) o(Y,) =
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25(2%) =2x28 (2k-1)g(VY,) =14. 14 De(Y,) = 25(4") < 80q (g - 1) (2k -
Euler 26-1 =7 o(Y)) =2 k= 1) e(Y,) <80

4Y =3.4.6 Y=¢Y (qVY) =1 Y= 6 5=06 ;

24 Y = 24 (1) k=4 q=2 (4)  2°(2k-1)g(V,) =
(1) Y =24, 25(2%) =2x52  2*(2k-1)¢(Y,) =13

qg=3 (4) 3 x2x(2k-1)¢(Y,) =
25(3%) =2x54 (2k-1)g(Y,) =6 2k -
1 =1 o(Y,)) =6 2k-1=3¢(Y,) =2. 2k-

1=1¢(Y,) =6 k=1Y, =7.9.14.18
Y=¢Y (qVY) =1 Y =180.378

Y = 189.378 (1) ;o 2k-1=3

oY) =2 kE=2Y =3.4.6 Y = ¢%Y,
(qY) =1 Y =108 Y =108

(1) :

q=5 (4) 1002k - 1) o(Y,) =
25(5*) =2 x 100 (2k = 1) (Y,) =2
2k -1 =1 ¢(Y,) =2 k=1Y, =3.4.6
Y=¢Y (qV) =1 Y =375.500.750
k=1 Y =375.500.750 (1) ;

q =17 (4) 7T x6x(2k-1)¢(Y,) =
25(7%) =2 x147 (2k-1)@(Y,) =1
2k -1 =1 ¢(Y,) =1 E=1Y =1.2
Y =4¢"Y, (qV) =1 Y =2343.686 k=1

Y = 343.686 (1) ;

g = 11 (4 (g - 1)(2k -
De(Y,) =25¢") < 48¢ qlq - 1) (2k -
1) e(Y,) <48

4 5 =4 ;
q =2 (4 2°(2k-1)e(Y)) =

28(2%) =2x34  2(2k-1)g(Y,) =17
g=3 (4) 3 x2x(2k-1)¢(Y,) =
25(3%) =2x69 3 x(2k-1)¢p(Y,) =23

g =5 (4) 5002k - 1) (Y,) =

q =7 (4 ¢'(q¢ -1 (2k -
1) o(Y)) =25(¢"%) < 64q q'(q - 1)(2k -

q =2 (4) 22k -1e(Y) =
25(2%) =2x44  2(2k-1)gp(Y,) =11

q=3 (4 q'(g - 1(2k -

25(2%) =2 x60

qg =3

De(Y,) =254°) <

1) p(Y,) <112

=]

q=2
25(2%) =2 x66

q =2
25(¢”) =2x76
19

g =3
De(Y) =25(q¢")
1) o(Y,) <144

5 =38 :
(4) 272k -1)g(Y)) =
2°(2k-1) o(V,) =33

(4)  2°(2k-1o(Y) =
2°(2k-1)p(Y,) =15

(4 ¢°(q - 1)(2k -
112¢  q'(q = 1)(2k -

(4) 22k -1De(Y) =

(4)  4'(qg - 1)(2k -

< 1444 q7(q - 1) (2% -

10 5210 g¢=2 (4)
(g -1)(2k - 1) (Y,) =25¢%) < 165¢
(g -1)(2k - 1) o(Y,) <165

3

Euler
S( n) Euler
e (Y) +S(Y")

¢( n) .Smarandache

e.(n) ke(Y) =
knel’
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. Fe(Y) = ea(1) +5(1) 7 - Fuler
nel' @s(n) I 2019 35(3) :740.
8 . Euler os( n) =20 J.
: 2018 43(2) :3641.
4 9 . . Euler
¢;(n)  Smarandache S( n) J .
2019 37(6) :821-824 831.
1 - Euler ¢(n) 10 . Smarandache
I 2018 I : 2019 62(2) : 247254
34(2) : 172-76. 11 . Smarandache LCM
2 . Euler o(xy) =k o(x) + S(SL(n" ")) =g,(n) J .
ky@(y) (ky #k,) I : : 2018 40( 10) : 7296.
2017 49( 1) : 740. 12 ) 2¢(n) =@,(n) +S(n%)
3 . Euler ] . 2019
D 2019. 36(4) : 3539.
4 . Euler 13 @, (n) =
I : 2019 51(3): S(n") | . 2017
2125. 36(1) :942.
5 . . Euler @, ( n) 14 M
I ' 1998: 125.
2019 51(2):742. 15 &(n) = (nll)
6 . Euler ¢s(n) =n/d ®,(n) =S(n") I 2014(5) :
I : 2019 41( 12) : 50-56. 3137

The Solutions of Arithmetic Function Equation k¢( Y) =¢,( Y) +S(Y ®)

ZHANG Sibao JIANG Lianxia
( School of Mathematics and Statistics Kashi University Kashi Xinjiang 844008 China)

Abstract: The solvability of the equation kp(Y) =¢,(Y) +S(Y*) involving ¢(n) ¢,(n) and S(n) three arith—
metic functions is discussed. By using the properties of these three arithmetic functions it is obtained that the equa—
tion has positive integer solutions only when k=1 2 4 5 9 11 and its specific positive integer solutions are given
where the arithmetic function @( n) is Euler function the arithmetic function ¢,( n) is generalized Euler function
and the arithmetic function S( n) is Smarandache function.

Key words: Euler function ¢( n) ; generalized Euler function ¢,( n) ; Smarandache function S( n) ; positive integer
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